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QUESTION 1

Consider the entity-relationship (ER) diagram shown in the exhibit. What do the characters at the ends of the connecting
line indicate? 

A. Degree of a relation 

B. Cardinality of a relation 

C. Primary key of a relation 

D. Determinant of a relation 

Correct Answer: B 

 

QUESTION 2

A large enterprise uses a two-tier database architecture and runs complex database processing on the client. Which
term best describes the client in this system? 

A. Fat client 

B. Thin client 

C. Terminal client 

D. Enterprise client 

Correct Answer: A 

 

QUESTION 3

The exhibit shows a table called Recreation Relation that relates a unique student identification number and a sports
activity with a fee for participating in that activity. The Student_ID and Activity columns in the table are used together as
a composite key. Which statement about the relation is correct? 
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A. Activity_Fee is a determinant of Activity. 

B. Activity_Fee is partially dependent on the primary key. 

C. The table contains a transitive dependency. 

D. Activity_Fee is a determinant of Activity and Student_ID. 

Correct Answer: B 

 

QUESTION 4

Consider the Information Engineering diagram in the exhibit showing a conceptual data model of the relations
BUILDING and RESIDENT. What is the next step in refining the data model? 

A. Create intermediate entities. 

B. Create a logical data model. 

C. Resolve many-to-many relationahips. 

D. Identify and resolve complex relationships. 

Correct Answer: B 

 

QUESTION 5

Consider the following SQL statement and the Orders relation shown in the exhibit: 
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What is the output of this SQL statement? 

A. B. C. D. 
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Correct Answer: D 
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